2024 Booklist



Villanova College Coorparoo Year 10

EXAMS

		Specified		(Order
Product	Price	Qty	Amount	Qty	Your calc
Clear Mesh Pouch A5 (260 x 200mm)	\$3.95	1	\$3.95		
Coloured Pencils Micador ColouRush 100% FSC 12's	\$5.52	1	\$5.52		
Faber-Castell Textliner 46 ICE Superfluorescent Yellow	\$1.35	1	\$1.35		
Ballpoint Pen BLACK Staedtler Stick Medium	\$0.70	2	\$1.40		
Pencil 2B	\$0.50	2	\$1.00		
Ruler Plastic 15cm	\$0.69	1	\$0.69		
Sharpener Metal 1 Hole	\$0.55	1	\$0.55		
Faber-Castell Dust-Free Eraser White Large With Sleeve	\$0.75	1	\$0.75		
	Total		\$15.21		

List AGeneral stationery to be shared between subjects

Contral dialionary to be unarou between subjects		Sp	Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Sheet Protectors A4 Pkt 10	\$1.01	5	\$5.05		
Clear Mesh Pouch A5 (260 x 200mm)	\$3.95	1	\$3.95		
Marbig Clearview Insert Binder A4 25mm 2D Black	\$4.05	3	\$12.15		
Marbig Indices and Dividers 5 Tab Manilla A4 Pastel	\$1.55	3	\$4.65		
Coloured Pencils Micador Basics 12's	\$2.95	1	\$2.95		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$3.80	1	\$3.80		
Glue Stick Staedtler 35g	\$2.02	1	\$2.02		
Ballpoint Pen BLACK Staedtler Stick Medium	\$0.70	2	\$1.40		
Ballpoint Pen BLUE Staedtler Stick Medium	\$0.70	2	\$1.40		
Ballpoint Pen RED Staedtler Stick Medium	\$0.70	2	\$1.40		
Pencil HB Single	\$0.64	2	\$1.28		
Ruler Plastic School 30cm Clear	\$0.62	1	\$0.62		
Sharpener Metal 1 Hole	\$0.55	1	\$0.55		
Eraser Micador Large 3020	\$0.39	1	\$0.39		
Headphones- Mconnected Earbuds with Mic and Case (3.5mm jack)	\$14.95	1	\$14.95		
	Total		\$56.56		

CORE SUBJECTS: Religious Education

Highlighters from List A required for this subject.

		Specified Orde		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
	Total		\$1.65		

English

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	2	\$3.30		
Marbig Polypick F/C Document Wallet Assorted	\$1.55	1	\$1.55		
	Total		\$4.85		

Literature

	Sp		Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	2	\$3.30		
	Total		\$3.30		

General Mathematics

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.91	2	\$3.82		
Calculator Scientific Casio FX100AU Plus II 2nd Edition	\$54.95	1	\$54.95		
Protractor Half Circle 180° 10cm	\$0.52	1	\$0.52		
	Total		\$59.29		

Mathematical Methods

Ruler required from List A for this subject.

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Calculator Graphics Casio FX-CG50AU	\$289.00	1	\$289.00		
Exercise Book A4 128 Pg (with margin)	\$1.91	2	\$3.82		
	Total		\$292.82		

ELECTIVE SUBJECTS: AccountingHighlighters from List A required for this subject.

	Specific		pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Account Book Collins A24 Ledger	\$4.74	1	\$4.74		
Account Book Collins A24 Treble Cash	\$4.74	1	\$4.74		
Exercise Book A4 96 Pg (with margin)	\$1.42	1	\$1.42		
Display Book A4 20 Pocket Black	\$1.90	1	\$1.90		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$3.80	1	\$3.80		
	Total		\$16.60		_

Biology

Students must purchase either a Black Apron from KMart or a Lab Coat from the Uniform shop.

Those students continuing Biology in Years 11 & 12 will require the following book for Year 10 Term 4. Biozone QCE Biology units 1 & 2.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Cumberland Red and Black Notebook Gloss A4 100 Leaf	\$6.65	1	\$6.65		
Biozone QCE Biology Units 1 & 2 9781927309834	\$48.95	1	\$48.95		
	Total		\$57.25		

Business

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.91	1	\$1.91		
Display Book A4 20 Pocket Black	\$1.90	1	\$1.90		
	Total		\$3.81		

Chemistry

Students must purchase either a Black Apron from KMart or a Lab Coat from the Uniform shop.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Cumberland Red and Black Notebook Gloss A4 100 Leaf	\$6.65	1	\$6.65		
	Total		\$8.30		

Chinese

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 96 Pg	\$1.65	1	\$1.65			
	Total		\$1.65			

Design

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Artline 230 Drawing System Pens Black Wallet of 6	\$28.95	1	\$28.95		
Pencil 2B	\$0.50	1	\$0.50		
	Total		\$29.45		

Digital Solutions

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Drama

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 48 Pg	\$0.96	1	\$0.96			
	Total		\$0.96			

Earth and Environmental Science

Students must purchase either a Black Apron from KMart or a Lab Coat from the Uniform shop.

	Specified		pecified	Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Cumberland Red and Black Notebook Gloss A4 100 Leaf	\$6.65	1	\$6.65		
	Total		\$8.30		

Economics

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 48 Pg	\$0.96	1	\$0.96		
Display Book A4 20 Pocket Black	\$1.90	1	\$1.90		
	Total		\$2.86		

Engineering

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Calculator Scientific Casio FX100AU Plus II 2nd Edition	\$54.95	1	\$54.95		
	Total		\$54.95		

Film, Television and New Media Headphones are required from general stationery list

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Micro SDHC Card Class10 32GB	\$14.96	1	\$14.96		
USB 32GB Flash Stick	\$7.75	1	\$7.75		
	Total		\$24.36		

Geography

	Specified		Order		
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	2	\$3.30		
	Total		\$3.30		

Health & Physical Education

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Document Wallet A4 Button Clear	\$1.60	1	\$1.60		
	Total		\$3.25		

Hospitality Practices

Please purchase Apron & Cap from the Hospitality Department.

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Italian

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
	Total		\$1.65		

Legal Studies

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 96 Pg	\$1.65	2	\$3.30			
	Total		\$3.30			

Modern History

	Specified Order		Order		
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	2	\$3.30		
	Total		\$3.30		

Music

Headphones are required from general stationery list.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
USB 32GB Flash Stick	\$7.75	1	\$7.75		
	Total		\$9.40		

Physics

Please purchase a black apron from KMart (labcoat not required)

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Cumberland Red and Black Notebook Gloss A4 100 Leaf	\$6.65	1	\$6.65		
	Total		\$8.30		

Specialist Mathematics

Specific		ecified (Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.91	1	\$1.91		
	Total		\$1.91		

Visual Art

* HB pencil, eraser, ruler, sharpener, glue stick, coloured pencils required from List A for this subject.

·		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Visual Arts Diary A4	\$6.47	1	\$6.47		
Artline Supreme Fine Liner Pen 0.4mm Black	\$2.00	1	\$2.00		
Pencil 2B	\$0.50	1	\$0.50		
Pencil 4B	\$0.50	1	\$0.50		
Pencil 6B	\$0.50	1	\$0.50		
	Total		\$9.97	,	

Workshop Fundamentals

2 x HB Pencils and Eraser required from List A for this subject.

		Specified		(Order	
Product	Price	Qty	Amount	Qty	Your calc	
No additional products are required for this subject.	\$0.00	1	\$0.00			
	Total		\$0.00			

Above prices include GST and are for pre-pack orders. Prices may vary in the retail store. A Tax Invoice will be included with your order.

BOOK PACK INFORMATION



This list of essential requirements for the school year has been carefully prepared by the teachers at your School with specific items & brands listed.

ORDERING ONLINE & DELIVERY is the **PREFERRED** method.

We strongly recommend you order EARLY in case of any service delays out of our control. Despite our best efforts, product replacements may be unavoidable due to supply issues.

AVOID BACI	K-TO-SCHOOL STRESS and ORDER by midnight 30 DECEMBER - It's easy!
	ORDER ON-LINE 24/7 www.schoolstuff.com.au Click "Order Book lists" and follow the prompts. Your list is pre-loaded for easy ordering.
⊕	ORDER BY PHONE Mon-Fri 9am-5pm and our friendly staff will process your order over the phone and assist with any enquiries.
F	DELIVERY Order all siblings on the same order for \$10 delivery with Couriers Please. See website for courier information to ensure safe delivery to HOME or WORK. Express packing and delivery may also be available.
į,a, į	CLICK & COLLECT from 81A Caswell St East Brisbane. You will receive a TEXT message when your order is ready. You must wait for this message to collect. In peak times (December/ January) please be aware it is usually several days wait.
	RETAIL STORE at 81A Caswell St East Brisbane. Our staff will pick and pack your order while you wait. Check our website or call us on 3391 7000 for opening hours.
30	ORDER BY THIS DATE for GUARANTEED packing prior to school return Due to the huge volume of orders received by this date, your order may take approx. 2 weeks. We appreciate your patience during this time. A priority service may be available - check website for details.
<u>(i</u>	BULK DELIVERIES & PRE-ORDER PRODUCTS These are to be ordered online or by phone prior to 30 December to ensure timely delivery to your school.
(; ;)	MISSED the GUARANTEED order date? See our website, Facebook page or phone us for available OPTIONS.
7	GOING ON HOLIDAYS? Contact us for options before you go to minimise Back to School stress when you return.

SHOP ADDRESS: 81A Caswell Street, East Brisbane 4169

Phone: 3391 7000

Email:enquiries@schoolstuff.com.auWebsite:www.schoolstuff.com.auFacebook:SchoolstuffAustralia

Check <u>www.schoolstuff.com.au</u> for opening hours during Christmas and New Year period.